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STATISTICS

Paper : STA0300104

(Survey Sampling and Design of
Experiments-1)

Full Marks : 45
Time : 2 hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x5=5
s «@el wom eieTed ed il ¢

(a) If all the units of a population are
surveyed, it is called

(Fill in the blank)

AW GOl AR TN (5167 S91el 91 23,
O CAleTl 24 |

(T} 91T 97 )

Contd.



l (b) When the population is
use a stratified sample. ’

| (Choose the correct option) |

RISHIEIEW =3, wiifil &5l e i
effone TR FE | (wE CeRhy Ak Glened) | y

(i) too small (ITS 7=)

(ii) very large (32© @@6)
(iii) homogeneous (FEIETE)
(iv) heterogeneous . ((RIWFT)

() When sample size increases, sampling
errors also increase. -

(State True or False)- anCo
0"*"—%.
foat aiforia o 3 27, eifesam @fbe A lK;\f%\
{;J

(o o7 oo )2 ufl \2

(d) A test that is based on i, 18\ \\ AN &)
ided b lysi : &
provided by analysis of variance XY I eSS
A & T B N3 =)

(Choose the correct option)
PR REmd @Bl g goge wiyiEe |
AT A AN (g Cewh) iR GEed)
(i) probability Ratio
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(e)

(1) variance ratio

ap LIRSS
(iii) random sample

g e

(iv) experimental unit
AT T

The error d.f. in an RBD with 4 blocks
comparing 6 treatments is
(Fill in the blank}

451 4% 661 TG weaE @bl AteE U
TfeFsE o Fog Jal Ze |
' (ﬁﬁ’ﬁ@)

Answer any five questions from the
following : 2x5=10

(@)

(b)

Y| e Al Rt <ol e T i ¢

Point out the drawbacks of complete
enumeration.

ojef SleIT STORPTIR O <4 |

Distinguish between observational
studies and sample surveys.

WGWWWWWWW
“Atefey forall |
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(c)

(@)

()

(g)

(h)

(i)

Define non-probability sampling.
SpSife! eforaas kel |

Under what situation will you prefer
RBD over CRD ?

. RERER AR 774 Ao wfesmers

qies e SfSTeromIT SR ) 292

What is systematic sampling ?

Aol aforza 52

Write down the uses of analysis of
variance.

mctﬁmcﬁ'w%ﬁm

What are the disadvantages of stratified
random sampling ?

e Ao Afobaa SHRee & e

Define proportional allocation in
stratified random sampling with
example.

TG MRS elfoszmg ssiifos e
CnizEemg e Bl

What do you mean by treatment and
experimental error in design of
experiment ?
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ATl SIS CAIBI W< AT o JTeeT
wofst & e e

() Explain the concept of simple random
sampling.

i1 A0 eAfSbae [IFECh! il 1 |

3. Answer any four questions from the

following : 5x4=20
woTe Al ePTIEd Ricical SifRore Sed ol ¢

(a) Discuss the basic pr1nc1ples of sample
survey.

Afom TR G FIMo7R ST T |-

(b) What is systematic sampling ? Mention
~ few advantgages of systematic sampling

over simple random sampling.
3+2=5

e eifona {3 2 319w Ao efobdae worio
e efossa Fglia R T 4 |

(c) A population of size 720 was divided
into 3 strata whose sizes were 360, 240
and 120 respectively. A sample of size
60 is taken from this population using
proportional allocation. Find the sizes
of the samples selected from each

stratum.
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@Bl 720 WRE AN [OFHD T T 360,
240 BT 120 SRS Tl 341 2 | 9% FABEH
 sfq) AN AIEe e RIS 1 96l 60 SIFEI
eifonel (TRl 27 | 2ifS0h1 = 7l @l 2o
SRl e |
(d) Show that in simple random sampling
sample mean is an unbiased estimate
of the population mean.

wqwmwmmﬁ‘mm
B G GOl ST ST |

(e)
assumptions made in it?
aﬂactﬁmﬂqawﬁwmaﬂ—@ﬁr
wfeqeTE & &2

design of experiment.

ol SifesrE TR Tifozs REm @bl
(Ol o2l |

What is completely randomised design
(CRD) ? Write down the hypothesis
tested and AOV table in CRD.

2jof A foass STl 15 2 75l g foess AR
e Gfow eFEol fordl o eprd fResEd
ST s 4 |

(9)
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Write a note on basic . prmmples (;fp 4

What is meant by AOV ? What are theotan o,,

\\

s’»\

(h) Show that in simple random sampling
with replacement the standard error of
estimate of sample mean is

S.E. (x)z%

T{fEIo A AR Ao (g e
T4 @ eifon T SceTeg TF S o0 25

S BN ((c)

Jn

Answer any one question from the
. following : 10

\ wore fonl Rzl @it e Bes e

:gg/ (a) Explain the principal steps involved in
3,- the planning and execution of a sample
survey.

@5l afon TR ARTEE S FRESeE
9 Gie® 4 2MCEF2PTIR TR 41 |

What are sampling and non-sampling
errors ? Discuss briefly.

oo s efr W & for oate
SiGz Sl R

(b)
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" (c) Describe the procedure of stratified

random sampling. Obtain the variance

of the estimate of the populatlon mean. .
3+7=10

wmmmmwm
M S el e «
(d () What is randomised block design?
~ State its advantages. . 5
AT Yo SfeeeAl 52 TR ﬁﬁw
T 9 _ -
(i) Fill in' the blanks of the following .
“ table : . 5 »
| Wﬁmmﬁwﬁéﬁﬂquﬁqw 3
‘Souwrce  df * Sumof Squares - Mean Square F
R R N N C % F
A 6. f— _ -
B 10 =t 1095 = -
Bror - - 10160 - |
& - :
T%al .60 18225
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